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PDYINONC OPY codelmport pandas as parrom sKlearn.
model_selection import train_test_splitfrom sklearn.ensemble
import RandomForestClassifierfrom sklearn.metrics import accuracy_scoreimport datetime

# 0 0 0O O data = pd.read_csv(‘market_data.csv") features = data.drop(['date’, ‘target'], axis=1)
target = data['target'] # 0 OO O [0 [0 X_train, X_test, y_train, y_test =train_test_split(features, targe
t, test_size=0.2, random_state=42) # [J [ O [J model = RandomForestClassifier()

model fit(X_train, y_train) # (I O predictions = model.predict(X_test)

accuracy = accuracy_score(y_test, predictions)print("C] [0 O :", accuracy)

#0 OO 0O0O0Ocurrent_price =100.0

#0 0O 0O 0O O O prediction = model.predict([[current_price]])if prediction == 1:

print("O O O O "elif prediction==-1:  print("0 O O O ")else:

print("O O ") #0 00O O def execute_trade
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